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Question Booklet Code

3t & fU sredeninstructions to the Candidates

1. The question paper is in the form of test booklet. All candidates will be assessed on
identical questions. '

A separate OMR answer sheet is provided to all candidates for answering.

3. Each objective question is provided with a text and/or figures wherever applicable with
multiple answer choices (A), (B), (C) and (D). Only one among them is correct and most
appropriate answer shall be selected.

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Blue/Black)
for writing on OMR sheet and marking the most appropriate answer.

5. All objective type questions carry equal marks of THREE for a correct answer and One
third negative mark will apply for each wrong answer.

- 6. Multiple answers for a question will be regarded as a wrong answer.

7. Although the test stresses on accuracy more than speed, it is important for you to use
your time as effectively as possible.

Do not waste time on questions, which are too difficult for you. You can go on to other
questions and come back to the difficult ones later.

9. Question booklets have been marked with AorBorC obr D or E on the right side top
corner, which is mandatory to be written on the OMR sheet in the box and bubble
appropriately, failing which, the answer sheet will not be evaluated.

10.  Space available in the booklet could be used for rough work, if required. No separate
sheet will be provided.

Before signing the attendance sheet, the candidate should write the Booklet Code in the
attendance sheet. Candidates should sign against their names only.

12. At the end of the test (1) Written Test Call Letter(s) with photograph pasted on it
and (2) OMR Answer Sheet should be handed over to the invigilator and shall not
be carried by the candidate under any circumstances.
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L',TQH‘ 9% F1s/Question Booklet Code l

Al

d=r RRu are Repror / Ina triangle given below
A

B G
a) AB? + AC? = B2
b) AB + BC = AC
¢) AB2+ BC2 = AC2

d) 3RIFT H ¥ IS A€/ None of the above

SATEIRE F2ASTeA & T, 587 377 dk W a1 aqer Ay &
For practical purposes, we generally take the value of T as

a) 3.14

b) 3.41

c 4.31

d) 413

faega arr & Ao @ Oy ¥

Current is measured by an instrument called
a) dlecHeX/ Voltmeter

b) HfARIUS / Resistor

) HUTRA / Capacitor

d) VHIEY / Ammeter

a}rﬁw HUTH GHAT Tehe T g/ A magnetic compass always points
a) cl(\'q“f‘/ East

b) 9RGH/ West

€) 3cd¥/ North

d) &f&oT/ South

STel &l "elcd § / Density of water is
a) 10,000 kg/m3

b) 1000 kg/m3

c) 100 kg/m3

d) 1kg/m3

Uh HSHIT & aXeT € / One micron equals
a) 103m
b) 104m
¢ 10'm
d) 102m

ol &1 gl § / Symbol for Gold is
a) Ag
b) Ar
9 Al
d) Au
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08 g & 51 ¥ Fu= & fow Y dreaamsieer fEar srar §
is used for galvanising iron to protect it from rusting
a) feddd / Calcium
b) VAATATH / Aluminium
c) dH / Copper
d) & / Zinc

09  Hrest s Ay RIG! &/ Solder is an alloy of
a) arH AR fAser/ Copper and nickel
b) AT 3R el / Chromium and Nickel
¢) a3k &/ Copper and Zinc
d) ¥ 3R T/ Lead and Tin

10 weRaH Wﬁj‘ﬁﬁF et & ®T H ST AT § / Hardest natural substance known is
a) AA8C/ Granite
b) HIFAT / Marble
c) &RT/ Diamond
d) W8T / Graphite

11 QqfAfrgs &1 o= J98T & / Melting point of Aluminium is approximately
a) 1000 °C
b) 500 °C
¢) 1500 °C
d) 660 °C

12 we g7 & & § / One inch is equal to
a) 245mm
b) 254 mm
¢) 25.2mm
d) 24.4mm

13 oy arg 3eRrer 3R AFAR B A F AT GEAHATS QA arer A §
Gauge used for measuring small air gaps and clearances
a) RET IS / Ring gauge
b) HageE ST / Feeler gauge
¢) W ST / Taper gauge
d) 3R¥d A1f¥d a1 / No Go gauge

14 gfer & R A & v s R srar §
Try-square is used to measure

a) W8l & oI & HUT/ Angle between surfaces

b) TG & FEAT H F@A & TIT/ Check squarness of the surfaces
C) LR W/ Straightness of surfaces

d) 3WRIFT F T F5 AT/ None of the above

2 | ereehfRrera ot (Rrex) - sméhamalt/ Technician B (Fitter) 2016 - IPRC
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15 e 9 a1 e & wfy g9 w2 B wewr @ Reew offg B o
Number of threads per inch in a screw or bolt is checked by
a) AT HAT/ Vernier calliper
b) 3 AT/ Dial gauge
¢) @ T A5/ Screw pitch gauge
d) FET 9T 3T / Thread plug gauge

16 F8 A9 & T @eer IR 1 wahr B srar & / Sine bar is used to measure
a) ¢URT ST & T / Angle of a tapered job
b) Tl & &I F FIUT / Angle between surfaces
) i & AT / Run out of job
d) 3RIFT H F FI$ AT/ None of the above

17 @rger U= &1 yaieT &/ Purpose of hollow punch is
a) AT Al HT G FEAT/ Deepen a drill point
b) RfEaa et & tg g/ Making the marked lines firm
) e ST & dHyg A ARG Far / Determining the centre of a round job
d) a7 urfcas, 9HS AT FIR Fersh & Mel & g womar

For making holes in thin metallic, leather or hard board sheets

18 U few At S 7 49 7Eg AW Rfeet #1 50 aFRR YA Reret F RS )
HAd: wgAdH 0T & / In a metric vernier calliper 49 main scale divisions are divided in to 50

vernier scale divisions. So least count is
a) 0.01 mm

b) 0.2mm

c) 0.02mm

d) 3WRIFT A & FI$ 7L/ None of the above
19 sreg #AEwEeT S TardEr & /Accuracy of external micrometer is

a) 0.1 mm
b) 0.01 mm
c) 0.02mm

d) SRFT H I Qﬁ'é' 81 / None of the above

20 FrEdRE A TE I ¢ TSF% 9T/ Combination set is an instrument which has
a) ¥eX g8/ Centre head
b) Sae WIgFeX / Bevel protractor
¢) THAW g3/ Square head
d) 39gFd & HI/ All the above

21 39T 82 & IR S GEIC) & / The gear ratio of index head is
a) 5081 /50to1
b) 14981/ 14to01
c) 4081/ 40to1
d) 3WFd A & IS 7€/ None of the above

&Tﬁﬁmﬂa& () - ITERHRH / Technician B (Fitter) 2016 - IPRC 3
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22

23

24

25

26

27

R & gHEdeT & fow T gAveT T Srar g

is used for levelling of machineries

a) Thel/ Scale

b) TEIRT daeT/ Spirit level

¢) sad Wigae / Bevel protractor
d) S sl / Gauge blocks

wed HRE_ ¥, o desa # fve Yoar §
is the portion of the file which fits in to the handle
a) @I/ Heel
b) f&g/ Point
¢) &I/ Tang
d) @R/ Edge

@B’d’ﬁ ¥ W fRde &d FT FIeT Sial ¢ / How many teeth are cut on a rough file
a) 20 ¥ 25 &d 9fd g9 / 20 to 25 teeth per inch

b) 30 & 40 &d 9fd §= / 30 to 40 teeth per inch

c) 40 ¥ 65 &d 9T 9 / 40 to 65 teeth per inch

d) 80 100 & ufd T / 80 to 100 teeth per inch

THo Fe Bl H &l I ALY 3W@T & FI0T H e ST §

In a single cut file the teeth are cut at an angle to the centre line of the file
a) 40°

b) 30°

) 60°

d) 80°

RIFRTeh geT T & foaw YaaT e ST &

filing is done for smoother cutting action
a) ¥¢T YdeT / Straight filing
b) T YA/ Cross filing
¢) &Y YT/ Draw filing
d) IWFT H§ T S =181 / None of the above

WA & # ICH I uifcasw FUT S FIg W WIT YT FIA ¥I FH AV FFET SAA ¢/
Metallic particles stuck in the file teeth produces scratches on the job surface. The defect is called as
a) #HRUT /Loading

b) U7 9« &Y / Pinning fault

c) 3fHT/ Dressing

d) 3IWIFd H & &I A61/ None of the above

| qeehfirer ot (Rex) - 3mERamREl | Technician B (Fitter) 2016 - IPRC
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mmwmﬁmmﬁ%%mamzﬁ&wmamaﬁﬁmém

EHOR HT w2 fhar Srar &/ scraper is used to scrape round or curved surfaces
and to remove sharp corners and burrs.

a) Welc THW/ Flat scraper

b) R Thow/ Triangular scraper

¢) 3 e BHW/ Half round scraper

d) IWEFT A O aﬂs" 8T/ None of the above

Fs HR 7 efie et F Tger 1 veT fomam Sirar &

drill is used in wooden and soft sheet jobs
a) UfST T/ Twist drill
b) @9re T3eT/ Flat drill
) WrE ATeNeR f3el/ Straight fluted drill
d) 3FIEFd # ¥ HS A¢T / None of the above

UST 3T & 3Ivs 0T AT Hdded PR T FIT ¥

Lip angle or angle of cutting edge of twist drill is
a) 181°
b) 128°
) 108°
d) 118°

e oo & 3w & wers i s F Fer Sar ¥
Depth of cut by a drill in axial direction is called

a) o drel / Cutting speed

b) #UT / Feed

C) ET\U‘I?T gf fAee / rpm

d) 39ed # ¥ A A€ / None of the above

Th I # &Il I 1DN / 60 & aWeT &1 ‘D’ Bl & Rer F sarg o gofar & ‘N guief wfa
HeTe @1 gfar &1 de ot 7 s ¥

In a formula cutting speed is equal to TDN/60. ‘D’ denotes diameter of drill in mm. ‘N’ denotes
r.p.m. The unit of cutting speed is

a) m/s

b) mm/sec

c) mm/min

d) 39IeFd H ¥ HIg 7€ / None of the above

Y Rt & AT sEaere B o arer R #he &

Drilling machine used for heavy jobs

a) HAdY 9F YR @ 3ol #AMeT/ Sensitive bench type drilling machine
b) argarferd f3felr M/ Pneumatic drilling machine

o) Tsw 3feier #MeT/ Radial drilling machine

d) f¥gers 3ol 72t / Co-ordinate drilling machine

| e @ (Reex) - JTENATE / Technician B (Fitter) 2016 - IPRC
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34

35

36

37

38

39

TR FlX g@T TR A Bl FF aF B & e Aehrel Sed A g §
Taper shank drills are taken out of the spindle hole by a taper cotter called
a) ¢/ Tang

b) = =M€l / Chuck key

c) T3we /Drift

d) 3RIFd H & HI5 a1 / None of the above

SoaECieid 3URUT & SEAATT U S arer Gat # wE F g U AW arer 'R AT S
GlUER g3 alell Uy ¢

Screw driver used for tightening screws having star or cross grooved head used in electronic
equipments is

a) 3pdT Yg&d / Offset screw driver

b) =S AT & JERd / Watch makers screw driver

¢) ¥We YT&d / Ratchet screw driver

d) ffoew d=e8 / Philips screw driver

AT Few & v sraATe U Seare cergd St FhoT 3R e St @) S § / Pliers
used for gripping nuts which are fitted in narrow and down places

a) e Fdel Tl / Side cutting pliers
b) T HANE TARRT / Slip joint pliers

¢) ared T ST/ Vice grip pliers

d) =ATR¥eRT TeRRT/ Nose pliers

fder Tt # 3RRT Ae-dlee F W & AT g fRar Se arer $@R
Spanner used to turn nuts-bolts mounted in deeper places is

a) didhe T/ Socket spanner

b) FARST FIX/ Adjustable spanner
¢) sied THAX/ Box spanner

d) Rer X/ Ring spanner

I3 oI & Usdl A W F T sEAAT F aren R §

Wrench used for turning large dia pipes
a) AT NF/ Adjustable wrench
b) 939 &/ Pipe wrench

¢) 9g& KT/ Strap wrench

d) ¥ R/ Chain wrench

3TE9T Teh TR § ST/ Dieing is the operation of

a) e ©F AT dlec & FET Tg! HI Fea / Cutting external threads on a round rod or bolt
b) & & 3R TS I Hrear/ Cutting internal thread in a hole

¢) 3WIFd gl / Both the above

d) 3RFd H & HI$ 78T / None of the above

| aewafrge &Y (FeX) - 3MSH3REY / Technician B (Fitter) 2016 - IPRC
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40 ﬁmﬁﬁamaﬁvﬂwﬁaﬁ#ma:mﬁwéﬁﬁmmmmwm/vlce

used for gripping a job in vertical, horizontal or angular posmon
a) O{e §F g/ Simple bench vice

b) TR aEd/ Swivel vice

¢) AMA a13d / Machine vice

d) |af3% FfeT ad/ Universal machine vice

41 gfayomacd fRam & ATd aFd HU dlell doc & / A bolt getting tightened when rotated in

clockwise direction is havmg
a) STU g &7 F3T/ Left handed thread
b) T &Y T TS/ Right handed thread
¢) TR I/ Taper thread
) 3RIFT H & FIS FA&T / None of the above

42 umer R T & AU ofis ST ¥ / For a single start thread the lead is equal to
a) I 4/ 2 times pitch
b) fAIET =/ 3 times pitch
c) M= /Pitch
d) 3mer [/ 1/2 of pitch

43w gfEt i 9f¥El & AT ¥/ ACME threads have angle of threads
a) 55°
b) 60°
o) 29°
d) 40°

M A WA T A & G S AR A safie ¥ 3 sar o &

Two extreme permissible sizes between which the actual size is contained is called
a) Hel 19/ Basic size
b) HART AT/ Nominal size
) &9 T HATT/ Limits of size
) HRE@aTar/ Interchangeability

45 25+0.05 FT T IETEROT ¥/ 25 +0.05 is an example of
a) TS UIREe ARFSIET/ Unilateral tolerance
" b) gfa wilRdw Tfgsurer / Bilateral tolerance
¢) @it/ Both
d) @IS g/ None

Laam"rfqﬁma’r (<) - 3T&I3RE / Technician B (Fitter) 2016 - IPRC 7
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46

47

48

49

50

51

pe & e oY yR & fov By 33w 3R dve 3 & ST JWAT 3R P Fer Far g/

Intentional difference between the hole dimension and shaft dimension for any type of fit is called

a) H%WU;HT/ Tolerance

b) T/ Allowances
c) =faeIoT / Interference
d) TFeid/ Clearance

et 7 & il @ safaeor e w7 t §
Which of the following is not interference fit
a) g fihe / Shrink fit

b) #RY gEa e/ Heavy drive fit

c) WenTel 3189 fe/ Light drive fit

d) @ fhe/ Running fit

FT 7 ¥ i a1 Foiyg e FE7 §/Which of the following is not a clearance fit
a) Femss fe/ Slide fit

b) Fae e/ Running fit

) HFue fhe/ Shrink fit

d) 3teg gae T/ Loose running fit

] R AN TR X & AT SEAATS T S drel slee Y Fgl el &

Bolt used for installing a machine on the ground is called

a) 3faT Stee/ Eye bolt

b) WCHIUN stee/ Hexagonal bolt

¢) &g diee/ Foundation bolt

d) ¥FFAIX g3 dec/ Square head bolt

mwmmmmmﬁmqﬁmwma%ﬁvmmmmﬁ%
3R & o g3 F FHgl ol §

Bolt having a ring shaped head used in heavy electric motors and other machines for providing a
facility for lifting is called

a) AP dee/ Counter sunk bolt

b) & dee / Tholt

c) et e §iee / Cheese head bolt

d) 3f&r e/ Eye bolt

e & § P G e U yonel A8

Which of the following is not a nut locking system
a) T &€ / Check nut

b) faurfed T / Split pin

c) T8I g/ ges / Spring washer

d) 99 &< / Wing nut

| eehfRree at (Rrex) - amEftsmR / Technician B (Fitter) 2016 - IPRC
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52 e | A werg & qRade # Fer oar ¥
Change in length/Original length is called
a) 9fd¥e / Stress

b) fa%fd / Strain
) &M T U / Factor of safety
d) I AR / Young’s modulus

53 u@a?gw,mﬁaag@s@maﬁms@mﬁsmwwmﬁﬁa%ﬁ%‘/The

property of a metal due to which it can be shaped to a wire by drawing process is called

a) JETFaSARIAT / Malleability
b) #SRAT/ Hardness

¢) deddl/ Ductility

d) 31?:13?IT/ Brittleness

54 Wmﬁaﬁqﬁﬁuwﬁ%wwéﬁwaﬁmm%
The property of a metal to resist abrasion or cutting is called
a) RAZTA / Toughness
b) TIAT/ Ductility
) 3JTETAIYARIAT / Malleability
d) oRdr/ Hardness

5 AT aT 1wy ‘HIF; & / Which of the following is a ferrous metal
a) dr& / Copper
b) IRAEIH / Aluminium
c) &9/ Gold
d) g $EIT / Mild steel

56 18% WA 3N 8% Tvher & sETT P Per ST &
Steels having 18% chromium and 8% Nickel is called
a) 3T T AT / High speed steel
b) FTST v / Maraging steel
) SR ST / Stainless steel
d) e ST / Carbon steel

7 & FEAT F 3UR GAE F FOR Y BT GRRAT F T ST ¥

The process of hardening the upper surface of a carbon steel is called
a) 3firelel / Annealing
b) Y& FHRe / Case hardening

€) HGHOT / Tempering
d) AT / Normalising

| R #t (Rrex) - ATENARE / Technician B (Fitter) 2016 - IPRC 9
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58

59

60

FHPIOT W TP FTROT & fAv T\ fFT S arer R T T ST §

The gears used for transmission of power at right angles is called
a) TR =R / Spur gears

b) Y& 3R AT / Rack and pinion

¢) da AT / Bevel gears

d) 3RFT H T HIS 181 / None of the above

Rt carr arer &Y IS F g e & v 1 ST ReaT ST ¥
is used to couple two pipes having different diameters

a) @i / Socket

b) /T

) FIg=T / Elbow

d) ogesRe / Reducer

Sfer argdt 3R 3% 3Tt # fRE e & g3 @ wer S §
What type of threads are cut in water pipes and their accessories

a) HIE ST / Metric thread
b) ¥R Tl / Square thread
¢) «&uEdrn / BSP

d) srud.ssey, / BSW

Area for Rough Work

‘ TR o (Fe) - mﬁanwﬁ/ Technician B (Fitter) 2016 - IPRC




ISRO PROPULSION COMPLEX

Mahendragiri

Written Examination for Selection to the Post of
Technician B (Fitter) — Post Code:003

ANSWER KEY

Question Booklet Code A

Q. No. Ans. Key Q. No. Ans. Key
01 & 31 B
02 A 32 B
03 D 33 ¢
04 c 34 c
05 B 35 D
06 B 36 D
07 D 37 c
08 D 38 D
09 D 39 A
10 c 40 D
11 D 41 B
12 B 42 -
13 B 43 c
14 B 44 c
15 c 45 B
16 A 46 B
{7 D 47 D
18 e 48 c
19 B 49 c
20 D 50 D
21 c 51 D
22 B 52 B
23 c 53 c
24 A 54 D
25 c 55 D
26 c 56 E
27 B 57 B
28 B 58 ¢
29 B 59 D
30 D 60 G




